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I, How doe.S Qa ol,‘QSe' engine wor*k ? —_

2. What do  each of +he  variables (4 wmdep s | dep) represent ? Why
: are Ha(\l im,oor*ard' E;

5. How are  He  varables measured ° ;

Y, ch\“} W Hae (Jebrca of precision 1 the meaSirements ;

5‘ Wl“l Qre +heve no obServedions at 2000 P ancl 30° Ny +..“,-,,5

6. How were  +he  poloes Lo He n'hdgloendtd‘ variables selected )

7‘ WL‘Y (Jo 'H‘\e_ I(—urscs" c\_‘gol\ol \/a(ue‘ oCCuw kL the Sy Jle w [oads ')

8. How was +he experiment  conducted

Cj. W hat Wwa § H\& run OY‘O(CP?

lo. Weree ol of the SQHMSA c\«anbcdl for gvery  runm ?

I, WL\Y Wer e ‘]”k& +€'MIQCV~CA'LurL awnd YOfCSSurC v‘q“*k ‘Hcludéo‘?

12 What Conclusions lmawe been reacked £rom priov &x'oen’h\{nh—\*.‘cw

of  +his -hme?
13

The Pe"'r""‘"‘""“-’— o Joadh O appears %vc\l({ai.‘vc‘\i O{I‘£L¢f€m+‘ WL\\( ?
Ooes H\e. engime VV\JCV‘so Some  Seort op c.l\r.hse_ betweson lead €0
and  Joad Fo Par*“«'culq.-l\, at 2000 RPMm 2

14 Do +he resuidvs £ load 30 4t Qo0 Rem and Zliolnj hming

make Sense ?

| S rs the ve Any eﬂ&a‘s {or .Se(cd»\'ns e then r»lelC\Y

G e ol(’"’endcvd' varcable ?

6. How will $h, resclhs (eguation) be  wicdh ?
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se¢ +he cingine
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